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[PART-A: GENERAL AWARENESS TEST]
. The term ‘Cannon’ is associated with which sport?
(A) Baseball (B) Billiards (C) Golf (D) Horse Racing

2. Keibul Lamjao National Park, the only floating park in the world, is situated in which of the
following State?
(A) Assam (B) Bihar (C) Manipur (D) Nagaland
3. Which of the following award is not related to the field of *Architecture’?
(A) Aga Khan Award (B) Abel Prize (C) Pritzker Prize (D) Sterling Prize
4. In India, ‘National Education Day’ is celebrated on-
(A) 5™ September (B) 5" October (C) 11" November (D) 12" December
5. Which of the following ruler started Shaka era?
(A) Ashoka (B) Bindusara (C) Chandragupta (D) Kanishka
6. Who proposed the ‘Drain of Wealth Theory’?
(A) Dadabhai Naoroji (B) Sardar Vallabhbhai Patel
(C) Bal Gangadhar Tilak (D) Mahatma Gandbhi
7. Match the following:
List1 List IT
(Famous Person) {Known as)
a) Amrita Shergil 1. Dancer
b) Bhimsen Joshi 2. Painter
c) Mallika Sarabhai 3. Poet
d) Suryakant Tripathi Nirala 4. Singer
Codes a b C d
(A) 2 1 4 3
(B) 2 4 1 3
(C) 3 1 2 4
(D) 2 3 | 4
8. Full form of Wi-Fi is-
(A) Wireless Fidelity (B) Wide World File
(C) Wireless File (D) World Wide Fidelity
9. Which of the following pair is correctly matched?
Term Definition
(A) URL A Web Browser
(B) IP Address An address to website
{C}  Archie The first searching tool used on the internet
(D) Botnets Self-replicating software

10. Which of the following city is known as ‘“Manchester of the North’?

(A) Prayagraj (B) Bikaner (C) Chandigarh (D) Kanpur

4y
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1. *Arihant’ is the name given to-
(A) An infantry combat vehicle {B) a ballistic missile
(C) An attack helicopter (D) a nuclear-powered submarine

12, Which of the following is the first private company to send a spacecraft to the international
space station?

(A) Ariane Space (B) ISC Kosmotras  (C} Orbital ATK (D) Space X
13. is a horticultural practice of growing fruits, vegetables etc. on commercial basis.
{A) Ranching (B) Truck farming  (C) Terrace farming (1) Mixed farming
14. Which of the following gland is not related to digestion?
(A) Kidney (B) Liver (C) Pancreas (D} Salivary
15. Which of the following predominantly act as the agent of chemical erosion of soil?
(A) Glacier (B) Sea Wave (C) Underground Water (D) Wind

16. According to the Constitution of India, which of the following are fundamental for governance
of the country?

{A) Fundamental Rights

(B) Directive Principles of State Policy

(C) Fundamental Duties

(D)} Fundamental Rights and Fundamental Duties

17. Who has won the ‘Purple Cap’ in Indian Premier League (IPL) 20247
(A) Harshal Patel (B) Rishabh Pant (C) Arshdeep Singh (D) Virat Kohli

18. In which country, India’s dairy brand ‘Amul’ has recently launched the sale of fresh milk for
the first time?

(A) Australia (B) Canada
(C) United Kingdom (D) United States of America
19. Who is the first Generative Artificial Intelligence (AT) teacher robot in India?
(A) IRIS (B) MITRA (C) SARAH (D) SOPHIA
20, Shri J.P. Nadda has taken the charge as Union Minister of in Prime Minister
Narender Modi led government in June, 2024.
(A) Agriculture and Rural Development (B) External Affairs
(C) Health and Family Welfare (D) Railways

21. Which mobile application was introduced by the Election Commission of India to enable
citizens to report violations of the Mode!l Code of Conduct during 2024 Lok Sabha Elections?

(AYKYC App (B) cVIGIL App (C) Saksham App (D) Voter Helpline App
22. Which of the following state has launched the ‘School on Wheels’ initiative?
(A) Manipur (B) Assam (C) Mizoram (D) Magaland
23. Who has been awarded the United Nations Military Gender Advocate of the Year Award 20237
{A) Captain Shreya (B) Major Radhika Sen
(C) Captain Abhilasha Barak (D) Major Priya Jhingan

@)
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24. Which of the following country has launched the world’s first 100% biodegradable pen?

(A) China (B) India (C) Japan (D) Nepal
25. The term ‘Uniform Civil Code’ is defined in which Article of the Indian Constitution?
(A) Article 21 (B) Article 30 (C) Article 44 (D) Article 51

26. Who has written the book ‘Code Development: Living in the Shadow of Al’ shortlisted for the
Women's Prize 20247

(A)Madhumita Murgia (B) Nandini Das
(C) Lavanya Lakshminarayan (D) Geetanjali Shree
27. In NEP 2020, targets have been set to achieve percent Gross Enrolment Ratio in
higher education by 2035,
(A)25 (B) 50 (C)75 (D) 100

28. What is India’s rank in the Global Gender Gap Index 2024 recently released by World
Economic Forum??

(A) 105 (B) 112 (C) 126 (D) 129
29. Where is the headquarter of Indian Space Research Organisation (ISRO) located?
(A) Bengaluru (B) Chennai (C) Hyderabad (D) Thiruvananthapuram

30. Which Indian Filmmaker has been honored with the Grand Prix Award at the Cannes Film
Festival for her documentary film ‘All We Imagine as Light’?
(A) Zoya Akhtar (B) Payal Kapadia  (C) Meghna Gulzar (D) Deepa Mehta

[PART-B: TEACHING POTENTIAL]
31. What is the primary purpose of education?
(A) To prepare individuals for specific jobs (B) To transmit culture and values
(C) To develop critical thinking skills (D) All of these

32. Gandhi’s concept of “Nai Talim” (Basic Education) emphasised:
(A) Memorisation-based curriculum
(B) Learning through practical and productive activities
(C) Teaching traditional subjects only
(D) Rigid academic schedules

33. What age group of children does the RTE Act primarily focus on for free and compulsory
education?

(A)3-10 years (B) 6-14 vears (C) 5-12 years (D) 8-16 years
34. What does “Student-centred learning” emphasise?

(A) Teacher-led instruction (B) Large group lectures

{C) Strict adherence to textbooks (D) Students’ participation and engagement
35. What is the primary role of a teacher in the classroom?

(A) To teach (B) To discipline students

(C) To facilitate learning (D) All of these

(3)
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36. In the classroom the blackboard is used as
(A) For decoration purposes (B) To preserve the wood
(C) A teaching aid (D) To make the wall strong

37. Which of the following is an advantage of using audio-visual aids in teaching?
(A)}Increased reliance on textbooks
(B) Limited student engagement
(C) Isolation of individual learning styles
(D) Increase in understanding and retention

38. Match the column

A B ]
1. Books ' a. Smart classroom }
| 2. Beaker b. Library
3. Hockey ¢. Laboratory |
4. Projector d. Playground
(A) lc, 2a, 3d, 4a (B) 1d,2a,3c,4b  (C)1b,2c,3d,4a (D) 1b, 2d, 3a, 4c
39. A School is the mirror of .
(A)Society (B) Family (C) State (D) Club
40. A good teacher takes care of a child’s,
(A)Moral development (B) Physical development
(C) Psychological development (D) All-round development

41. What will you do if a student continuously interrupts you while teaching?
{A) Snub him :
(B) Politely tell him to sit down and continue teaching
(C) Try to find out the actual problem and mend his behaviour
(D) Strictly tell him not to disturb during teaching

42. Which of the following statements is correct?
(A) Audio-visual aids make teaching interesting
(B) Audio-visual aids make teaching effective
(€) Audio-visual aids bring variety
(D) All of the above

43. Evaluation should be?

(A)Summative (B) Formative
(C) Both summative and fcsrm_ative (D) Annual
44. Periodic tests help in?
(A)Monitoring the progress of students (B) Creating fear
(€) Keeping students busy (D) Maint_aining discipline
45. When you are writing on blackboard, you should keep in mind that your handwriting should
be?
(A) Legible (B) In small letters  (C) Beautiful (D) In capital letters

(4)
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The “Wardha Scheme’ is also known as by which of the following schemes?

(A) National Scheme on Education (B) Basic Education

(C) Kothari Commission (D) Nation policy

To maintain discipline in the class, as a teacher you will;

(A) Threaten them with dire consequences (B) Beat them

(C) Teach effectively (D) Lecture them on the need for discipline
When was the Right to Education (RTE) Act enacted in India?

(A) 2005 (B) 2007 (C) 2009 (D) 2010

One of the aims of education is to strengthen.

(A) Democracy (B) Autocracy (C) Politics (D) Religion

In dealing with students of diverse religious backgrounds a teacher should be.

(A) Secular (B) Orthodox (C) Backward (D) Superstitious
While checking answer sheets, a teacher must be?

(A) Liberal (B) Objective (C) Strict (D) Subjective

If a student cannot understand the classroom teaching the teacher should.
(A} Punish the student

(B) Ask the student to leave the classroom

(C) Complaint to the principal

(D) Try to find the reason after discussion with parents

- Social values are best inculcated through?

{A)School (B) Home

(C) Friends and neighbours (D) All of these

Who is the first teacher of a child?

(A) Sister (B) Aunt (C) Mother (D) Nurse

In India till the elementary level Education for every child isa

{A) Birth right (B) Personal right

(C) Fundamental right (D) Family right

I want to become a school teacher because,

(A)Salaries are decent (B) Social status is good

(C) Children are young (D) Teaching is a noble cause

In the classroom the teacher should preferably use examples from.

(A) Books (B) Internet (C) Daily life (D) Television
NCTE stands for.

(A) National Centre for Teacher Education (B) National Council for Teacher Education

(C) National Council for training and education (D) National Company of training education

What is the nature of teaching?
(A) Teaching is an art (B) Teaching is science
{C) Teaching is both art and science (D) Neither art nor science
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Co-curricular activities are important for students.
(A) Mental development (B) Social development
(C) Emotional development (D) All of these

[PART-C: GENERAL MENTAL ABILITY TEST]

In the series: 4, 7, 12, 19, 28, .... What number should come next?

(A) 35 (B) 37 (C)39 (D) 41
Look at this series: 7, 10, 8, 11, 9, 12,... What number should come next?

(A) 11 (B) 10 (C) 15 (D) 13
Find the wrong term in the number series: 12, 24, 36, 48, 60, 75, 84, 96!

(A) 48 () 60 (C) 75 (I3} 84

- In this question, certain pairs of words are given out of which the words in all the pairs except one,

bear a certain common relationship. Decode this relationship and choose the pair in which the
words are differently related:

(A) Ball: Bat (B} Cup: Tea (C) Bottle: Wine (D) Pitcher: Water
Three of the words (given below in options) are in same classification, the remaining one is
not. Which one word does NOT belong in the same classification as the others?

(A) Inch (B) Yard {C) Ounce (D) Centimeter

In the following question, four words are given, out of which three are alike in some manner and
the fourth one is different. Choose out the odd one:

(A) Skull (B) Appendix (C) Pelvis (D) Fibula

Odometer is to Mileage as Compass is to:

{A) Speed (B) Hiring (C) Needle (D) Direction

Choose the pair that best represents a similar relationship to the one expressed in the original
pair of words: PETAL : FLOWER

(A) Salt : Pepper (B) Twre : Bicycle  (C) Puppy : Dog (D) Base : Ball

Moon : Satellite :: Earth : ?

(4A) Sun (B) Pluto (C) Planet (D) Solar System

The antonym of ‘artificial’ is:

{A) Natural (B) Fake (C) New (D) False

The synonym of ‘diligent’ is:

(A) Fool (B) Unhappy (C) Disappoint (D) Hardworking
. The antonym of “transparent’ is: '

(A) Opagque (B) Translucent (C) Obvious (D) Imaginative

In a certain code, TERMINAL is written as SDQLJOBM. How is CREDIBLE written in that

code?
{A) DSFEICMF (B) BQDCICMF (C) BODCHAKD (D) DSFEIIAKD

(6)
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In a certain code MEAN is written as ‘8964° and NOBLE is written as ‘47529, How is LOAM
written in that code?

(A) 2768 (B) 2758 (C) 2968 (D) 2468

In a certain code language ‘si po re’ means “book is thick’, 'ti na re’ means *bag is heavy’, ‘ka
si’ means ‘interesting book’ and ‘de ti" means ‘that bag’. What should stand for ‘that is
interesting’ in that code language?

(A) karena (B) de sire (C)ti poka (D) ka de re

A person arranged eight “LED TVs” of different models: Godrej, LG, Samsung, Carrier,
Whirlpool, Heir, Philips and Toshiba. Carrier is third to the left of Whirlpool and next to the
right of LG. Philips is second to the right end and exactly between Heir and Godrej. Samsung
is second to the left of Heir. State which of the brand is third to the left of Godrej?

(A)LG (B) Heir (C) Whirlpool (D) Samsung

How many times do the hands of a clock coincide in a day?
(Ay11 (B) 12 (cy22 - (D) 24

A direction pole was situated on the crossing. Due to an accident the pole turned in such a
manner that the pointer which was showing East, started showing South. One traveler went to
wrong direction thinking to be West. In what direction actually he was traveling?

(A) North-East (B) South-West (C) South (D) North
Statements: All dogs are mammals. All mammals have lungs.
Conclusions:

. All dogs have lungs.

I1. All dogs are animals.

{A) Only conclusion | follows (B) Only conclusion 11 follows
(C) Both I and 1l follow (D) Neither 1 nor 11 follows
Statements: All doctors are humans. Some humans are musicians.
Conclusions:

L. All musicians are doctors.

Il Some doctors are musicians.

(A) Only conclusion | follows (B) Only conclusion 11 follows
(C) Both I and 11 follow (D) Neither I nor 11 follows

Statement: All doctors are highly educated.

Conclusion: Ambrish is highly educated, so he must be a doctor.

Options:

I. The conclusion follows

1. The conclusion does not follows

(A) Option 1 (B) Option 11 {C)BothTand 11 (D) Neither 1 nor 11

(7)
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82. As per the following Bar-Chart, the average production of wheat is what percentage of the
average production of rice?

Yearly production

bl
o

EL
5
0 s
2019 030
Yeal
(Note: That in all the years, the first bar represents Rice, the second bar represents
Wheat and the third bar represents Bajra)
(A) 80.83% (B) 83.33% (C) 70.83% (D) 69.69%
83. Which of the following number in the diagram below represents ‘fresh fruits’?
Vegetanles Rﬂite”
l 6 e e
3 (/1 [ &
=zl 7
Fruits Fresh
(A) 1 (B)2 (C)7 (D) 8
84. Which one of the following venn-diagram, best presents the relationship among Pen, Kidney
and Car?

@ 0o ®) © ©o ® QO

85. A statement is given, followed by two conclusions. Choose the correct option accordingly.
Statement: 1f you are a good artist, then we have definitely a job for you.

Conclusion:

I.  You are a good artist.

II. We are in need of good artist.
{A) Only conclusion 1 follow (B) Only conclusion 11 follows
(C) Either 1 or 1T follows (D) Neither I nor {1 follows

(8)



[B.Ed.-CETFPB-A-24]

86. Read the passage below and select the inference(s) that hold true based on the facts in the

87,

88.

89,

passage:

Passage:

The Paris Agreement often referred to as the Paris Accords or the Paris Climate Accords, is
an international treaty on climate change, adopted in 2015. It covers climate change mitigation,
adaption, and finance. The Agreement was negotiated by 196 parties at the 2015 United
Nations Climate Change Conference near Paris, France. The Paris Agreement was opened for
signature on April 22, 2016 (Earth Day) at a ceremony in New York. After the European
Union ratified the agreement, sufficient countries had ratified the Agreement responsible for
enough of the world’s greenhouse gases for the Agreement to enter into force on November
04, 2016. As of September 2022, 194 members of the United Nations Framework Convention
on Climate Change (UNFCCC) are parties to the agreement. Of the four UNFCCC member
states which have not ratified the agreement, the only major emitter is Iran. The United States
withdrew from the Agreement in 2022 but rejoined in 2021.

Inferences:

. The Paris Agreement is not enough to prevent the global average temperature from

rising 1.5 °C.

II. The Paris Agreement is a legally binding international treaty on climate change.

I11. The Eiffel Tower is a wrought iron lattice tower on the Champ de Mars in Paris.

(A) Only inference | follow (B) Both inference I and 11 follows
{C) Only inference 11 follows (D) Only inference 111 follows
Statement: The government has announced a ban on the use of single-use plastic bags in all

stores across the country.

Inferences:

1. People will have to start carrying their own reusable bags when they go shopping.

1. All stores will have to shut down as they will not be able to use plastic bags anymore.
III. The ban on single-use plastic bags will not have any impact on the environment.

(A) Only inference 1 follow (B) Only inference II follows
(C) Only inference 111 follows (D) Both inference | and 11 follows
D is the brother of B. M is the brother of B, K is the father of M. T is the wife of K. How is B

related to T?
(A) Spouse (B) Offspring (C) Parent (D) Mo Relation

X introduces Y saying, “He is the husband of the grand-daughter of the father of my father.”
How is Y related to X7

(A) Son (B) Brother (C) Son-in-law (D) Brother-in-law

90. A is father of C and D is son of B, E is brother of A. If C is sister of D then how is B related to
A?
(A) Wife (B) Daughter (C) Husband (D) Daughter-in-law

9
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[PART-D: ENGLISH LANGUAGE PROFICIENCY (Compulsory for all candidates)]

Directions for Question No. 91 — 100: Fill-in the blanks with correct response option:

91. We have not met her ages.

(A) from (B) since (C) while (D) till
92. We believed thathe  selected for the post.

(A) would get (B) shall be getting  (C) gets (D) is getting
93. You are the only person can help me

(A) which (B) that (C) here (D) vou
94 Alwayshelp _ poor

{A) the (B)a (C) all (D) any
95. member of the family congratulated me on my achievement.

(A) All (B) Whole (C) Each (D) Few
96. Thesun __ in the east.

(A) rise (B) rises (C) has not yetrise (D) had not rise
97.1 ~my work regularly.

{A) do (B} does (C) would done {D} have did
98. She is senior to me three years.

(A) under (B) of (C)y by (D) upto
99. I am conscious my faults.

(A) of (B) for (C) with (D) without
100. _ you sow, so shall you reap.

(A) When (B) If (C) That (D) As
Directions for Question No. 101 = #05: Choose the most appropriate usage, meaning or the

expression:
101. Which of the following is most appropriate use of ‘on tenterhooks’:
(A} 1 was on tenterhooks throughout this comedy movie.
(B) Radhe was on tenterhooks meeting his friend after a long time.
(C) The news of getting selected in the team put us on tenterhooks.
(D) Rashmi was on tenterhooks waiting all moming for the job interview call.

102, ‘All the rage’ is an idiom that stands for:

(A) popular (B) angry (C) creative (D) generous
103. The opposite of “back to square one’ is:

{A) reset (B) conclusion () continue (D) reboot

104. “Birds of a feather flock together’ can be used in a situation where:
(A) many people brainstorm together (B) people of same interest gather together
(C) there is a lot of diversity among people (D) people applaud others for their achievements

(10)
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105. The most appropriate meaning of ‘a blind spot’ is:
(A) an area earmarked for visually impaired
(B) a hidden area under construction
(C) a subject / topic with multiple interpretations
(D} a subject about which one is uninformed

/= 109: Choose the most appropriate response from
the given options:
106. The Past Perfect Tense is used to express:
(A) an action that was going on at some point in the past
(B) an action which happened before a specified point of time in the past
(C) a past action whose time is not given
(D) to express a frequently repeated past action

107.  Identify the INCORRECT statement:
(A) Reflexive pronouns end in —self or —selves.
(B) Interrogative pronouns are used for asking questions.
(C) Emphatic pronouns are used to emphasize the question.
(D) Reciprocal pronouns express a mutual relationship.

108, Identify the INCORRECT set of present, past and past participle forms of verb:
(A) cost, costed, cost (B) dig, dug, dug (C) bid, bade, bidden (D) shake, shook, shaken

109. Read the meaning of Rise and Raise and decide whether these are correct or not:
(I) ‘Rise” means to get up
(1) *Raise” means to lift up
{A) Both (I) and (I1) are correct (B) Only (1) is correct
(C) Only (11) is correct (D) Neither (I) nor (I1) is correct

)i [ =914 These items have parts that are underlined and labelled.
Raad each item carefully to ldtntlf}’ the part (A), (B) or (C) that may have error in it. In case there
is no error, mark your response as (D).

110. When Chris got a position at / a legal secretary with one of the most prestigious

(A) (B)
law firms in the city, / he was elated. / No Error
(€) (D)

111.  Meanwhile./ life is passing /you right bye. / No Error

(A) (B) (C) (D)
112.  Well, mavbe (just this once I could /take a break from working. / No Error

(A) (B) (C) (D)
113.  Don’t get /blind to vour/ shortcomings. / No Error

(A) (B) (C) (D)
114, [ am desirous /of winning/ a scholarship. / No Error

(A) (B) (C) (D)

(11)
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Directions for Question No. 115 — 120; Read the tollowing paragraph carefully and answer the

following questions based upon your understanding of
the given paragraph:

Today, all of us do, by our presence here confer glory and hope to newborn liberty. Out of the
experience of an extraordinary human disaster that lasted too long, must be born a society of

which all humanity will be proud. We, who were outlaws not so long ago, have today been
given the rare privilege to be host to the nations of the world on our own soil. We thank all of
our distinguished international guests for having come to take possession with the people of
our country of what is, afier all, a common victory for justice, for peace, for human dignity.
We have, at last, achieved our political emancipation. We pledge ourselves to liberate all our
people from the continuing bondage of poverty, deprivation, suffering, gender and other
discrimination. Never, never, and never again shall it be that this beautiful land will again
experience the oppression of one by another. The sun shall never set on so glorious a human
achievement. Let freedom reign. God bless Africa!

115.

116.

117.

118.

119.

120.

The word ‘emancipation’ means:
(A) liberation (B) servitude (C) conquest (D) vanquishing

The word that coveys the meaning ‘state of not having one’s rightful benefits’ is:
(A) privilege (B) distinguished (C) disaster (D) deprivation
The synonym of ‘emancipation’ is:

(A) bondage (B) confinement (C) salvation (D) subjugation

In this historic speech by Nelson Mandela, the speaker calls it “a common vietory”
because:

(A) the audience comprised of people of Africa

(B) the speaker meant it for entire human race

(C) many representatives of different nations were present at the ceremony

(D) the event was hosted in his country

In this extract, ‘an extraordinary human disaster’ refers to:

(A) poverty (B) racial discrimination

(C) over-population (D) human dignity

“Never, never, and never again...” is indicative of speaker’s

(A) resolve (B) fear (C) agitation (D) exaggeration
X-X-X
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